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Section 4 — Topic 2
Solving Quadratic Equations by Factoring

To solve a quadratic equation by factoring. Write the

quadratic in standard form, ax? + bx + ¢ = 0 and factor out the
greatest common factor, if possible.

There are two ways to factor.
master product method . )
¥ Use the esss—msedatto factor the frinomial.

» Use factoring by grouping.

Then, use the zero product property to find the solutions.
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Let's Practice!

2 —_—
1. Consider the equation 2::23—9 =f33::. 2 cC - 3 C /0] =0
e e ] )
a. Use the area model to factor. A /‘2 b - -3 C = q
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b. Factor by grouping.
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(2436 -9) : )
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Try Ifl
2. Solve the quadratic equation below using factoring by

grouping. Idenfify the property used in each step to solve
the equation.

11x + 2 = —5x2
‘{’5><Q +§?<Q

S5x2ellx+2 =0
-5 Lol =2

(x*%)(x + éﬁ>
(v+2) (5% =1
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Let's investigate factoring by substitution. p& ~ @e e < 7 Uowre.

Consider the quadratic equation 36x% + 60x + 21 = 0.
v N ~ 21

B L : : U Q (O ¢€x
Let{u? = 36x2}|n the frinomial. /
\S\\:_O_: = \/( ‘ 3 éxa = é% \@d

What does 60x equal in ferms of u?
(u=to

Rewrite the quadratic equation in terms of u. Factor and solve ;) ) / O

s 14100+ 0
o=l =10 - 2

(u 12)(p+ ) =0O
Solve for x. L+1=0 v, Y7z 0

30349
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Let's Practice!

3. Use factoring by substitution fo solve the equation below.

(/12/— 157(2 25x2+}5\x—18=(} -1y g
§ ¢y (Z)/Q (-3
u/_ 5% \/
VAV

U 23y ~1§=0 U= 5x
(VU3 )20 (=6« 3-s,
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Try It
4, lt,l};el;ﬁ:toring by substitution to solve for x in the equation u Q,: ﬂ % L/
4 2 ;l
9x* —18x-+8=10 u -
S |-6 / —4/;”43) 2
<&
29|72 yrgu g §=0 237 2237
u-Y)(v2)=0 3
== 0 _
= %Q %L// 2 1?__ 2




Section 4 topic 2 Solving quadratic equations by factoring 12-4 - 12-5 p2.notBkoeinber 06, 2019

e IRER

1. Arectangle has an area of 4x? — 8x + 3 square units.

Which of the following could represent the perimeter of
the rectangle in ferms of x2

® 2x-1 ) s

g 2;;—3 <>(/ 2 >[>(‘ 2 U
O 4x—4

® 8x-—18

(Qv()(l?@j}
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U: 5 U= _} g 2
2. Giovannifactored 16x2 —8x—3=0as (u—3)(u+1) =0. u - } QX
which of the following are solution(s) to 16x% — 8x — 3 = 02
Select all that apply. u - z/x
B i L/ C/
- gy
i P L

@ 4 - ~N

oo ¢ 1

3 !

T4

O 3
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